EXAMEN DE RATTRAPAGE INFORMATIQUE 1 (corrigé)
EXERCICE 1(8points): 
     L = (L1 OR L2) AND NOT  L2      = TRUE                  (0.5 PTS)
                  (1)true   (3)true (2 )true                                    (0.5 PTS)  

     M = (X > Y) OR (X+Y<9) AND (X < Y)   = TRUE      (0.5 PTS)
                (1)false       (2) (3)true           (4)true

                           (6)true              (5)true                              (0.5 PTS)
2) Sur 2 points
       PROGRAM   EX1 ;                       
       Uses wincrt ;               
       Var X,  Y,Z : Real ;                               
       Begin

          X :=0 ; Y :=7 ;  Z :=0 ;

         While  X < 10 do
                    Begin   IF  Y >=0 then     begin

                                                                           Y :=Y-X ;
                                                                           Z :=Z+2 ;

                                                               End ;


             X :=X+3 ;

                     End ;

       write(X,Y,Z) ;

       End.
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2            (0.5 PTS)  

4             (0.5 PTS)       

6             (0.5 PTS)       

8    (valeurs finales)  

               (0.5 PTS)  




      Algorithme  ex1                       

       Variables X,Y,Z : Reel ;                               

       debut

       X (0 ; Y (7 ;  Z (0 

       Tant que  X < 10 faire      (0.5 PTS)       

                    si  Y >=0 alors   Y (Y-X    (0.5 PTS)       
                                                Z (Z+2 

                    Finsi  (0.5 PTS)       

             X (X+3 

       Fintantque   (0.5 PTS)            
       ecrire(X,Y,Z) 
       Fin

EXERCICE 3(6points): 





Program EX3 ;


Uses wincrt;


Var X,T,S :Real ;   (0.5 PTS)      


        I :integer ;


Begin


       Read(X) ;      (0.5 PTS)


       S :=0 ;        (0.25 PTS) 


       T :=X ;        (0.25 PTS)


       For I :=1 to 100  Do  (1 PTS)


            Begin   (0.25 PTS)


                   S :=S +  T/i ;  (1 PTS)


                   T := T*X*X ; (1 PTS)


             End ;   (0.25)


        Write(S) ;    (0.5 PTS)


End.





EXERCICE 2(6points): 





PROGRAM  EX2 ;


Var  i,N :integer ;       (0.5 point)


        P : boolean ;


BEGIN


    Write(‘Introduire N  ‘) ;read(N) ;    (0.5  point)


I := 2 ;      (1 point)


P := true ;


While (I <= N / 2) and   P   do        (0.5 + 0.5 point) 


    Begin


            If   N mod I = 0  then P := false ;  (0.5 + 0.5 point)


            I := I + 1 ;       (1  point)


     End ;


   If  P then write(N,’  est premier’)   (0.5 + 0.5 point)


           Else write(N,’N’’est pas premier ‘) ;       


END.

















